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Math 308 Test 2
July 24,2018
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Note that both sides of each page may have printed material.

Instructions:

1.

10.

11.

Read the instructions.
Everything you write must be fully justified.

Complete all problems in the actual test. Bonus problems are, of course, optional. Bonus
problems will only be counted if all parts of all other problems are attempted.

Show ALL your work to receive full credit. You will get O credit for simply writing down the
answers (that’s not really possible in this test anyway...)

Write neatly so that | am able to follow your sequence of steps.
Read through the exam and complete the problems that are easy (for you) first!

No scrap paper, calculators, notes or other outside aids allowed—including divine intervention,
telepathy, knowledge osmosis, the smart kid that may be sitting beside you or that friend you
might be thinking of texting.

In fact, cell phones should be out of sight!

Use the correct notation and write what you mean! x? and x2 are not the same thing, for
example, and | will grade accordingly.

Remember: if you mess up on a definition in a problem, you will get a zero for that problem.
Use the definitions from class. If you want to use another, you must first prove it is equivalent to
the class’ definition.

Other than that, have fun and good luck!

So, there are infinitely many real numbers and infinitely many
integers, yet, somehow, there are more real numbers than there
are integers. And if | throw away all the integers from the real

numbers I'll have the same number of num£ rs left over??1?1?1?

SET THEORY:
Making people go crazy. Since 1891.
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1. (a) (5 points) Prove R is uncountable. Fully justify.
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(b) (5 points) Prove that [NV| = |R|
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2. (20 points) Suppose A is a non-empty set of real numbers that has a lower bound. Prove that A has
an infimum, that is, a greatest lower bound. Hint: You may use the completeness axiom for R.
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3. (a) (15 points) Let A and B be non-empty sets such that |A| = |B|. Prove that, if C is a non-mepty
set, then |C4| = |CB].

?{: AS‘?UM ,A": {BL )ﬂ,\a/v\ R L\c\\/ﬁ \AUQ’(_)M\/Q \JV\(/‘,'(Onj J[“‘A.—eg o~~—~0(
j g/?A I(p }/owlrm,uf_a\r/ ”h,,q,}L fuv\c}((o\qg ax e \m)gc}\.\/{/mh% So Ll L&\,{

e8] —0 and Bl A —@.

g —
By pack (L), mequedily © 1l |t lelcfl—e
. b cnlies [CBl £ —®. ]
ol vodity @ 1 P .
A\”\”'b‘“ﬁ chcéJQc——@@xw’%U“\JﬁB ! < A}c,(cﬁk
Jihes @ ond @ hogefu 1P IC .
\V\e/O\u M ) V}

(b) (5 points) Assume now that |A| < |B], prove that |C*| < |CB|. )
. =voroe( ),
?7(: Poconsz |A£IB Than 3 an 1»\Je,<,\L;ow@\{> AR St B,L rge( >k
w\\\ no? Jﬁ'“\‘j an “”‘\}U/J‘!@“ F- C,A“'>C, R ,hdex M -puV\C/ jo~ S thCA
\00\)& < JrT ou\.U(-OLOG.LL/ an (’;x/ aﬂj ﬁ/—cw@\} FCcCe Fo( -QO»C/L\ JCZ e )
4 o S —— - ! 2 )
3’\; J&‘P\w‘?f F(Jﬁc> = j(:; eC m fre ﬁa”ov—“v\j Loty =
o | ;C— nga&w‘m 1§ ner!
C n

{

U hve feom A
wee. P 18 o njechve éuw(}(o»\ N e ’B/H"!S L"JU/ ve [fo /

Sk P J i

e vnigoe aeh sveh flod fl2=1e L. () ot

n#tm, we bhave [ (') 7 { (e |

¢o \-Q’IC"‘> 1S /
Ts neond, foc m’meg)
SO F(g(')(n) %F(?PLXW‘)J Thos s 'l/(/ s o es1ced. 2

(H, Sy \D,\_ L\p\r«"j J-U \/(,C\.Jo\j\%( {’l,\.Q. QO“\J‘*‘(‘\JCI‘L[O"\ O\Lo\/—q_)}c / ul” PO“S“{L
a’\/\c&l,n_( WC‘tQ‘ (\/!"\b Cov\C(Q_l'& Q.)(C\""\F(Q/( o( A/\Z/C/ Sa \/OV\ A J(‘CQ_
\A_ow e gowixt(uut fLﬂ,SLQ» g)nQHOHy)’



4. (20 points) Prove that if f: A — B is surjective, then there exists g: B — A such that g is injective and
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5. (20 points) Let 4 be a set of real numbers. We say that A is dense (in R) if for any two x,y € Rwith x <
y there exists an a € A such that x < a < y. Assume A is countable. Prove that R\A is dense.

Hint: You may use contradiction here. Assuming the contrary implies that the interval (x, y) S A.
Explain why this must be the case under this assumption and show how this leads to a contradiction.
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6. (a) (5 points) Prove that Q is countable. From scratch!
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(b) (5 points) Prove that for any set 4, |4] < |P(4)]
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Bonus Problems: (You must attempt all other parts of all other problems to be eligible. If with the
bonus points, your grade exceeds 100, I’ll add the excess to your first test.)

1. (10 points) (a) Let s: N — R be a non-decreasing sequence, that is, s; < 5, < 53 < -+ Suppose that
the sequence is bounded above. Prove that the sequence s,, is convergent.
Hint: It suffices to show that if {54, 53, 53, ... } is an ordered, infinite set of real numbers and is
bounded above by L, then lim s, = L. This is a proofs class, so you must show a limit exists using a
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rigorous definition. See glossary on last page.

Pjﬁ: L(,,L e7 o, (I e fL\o\,./ ')'Z_/__a_f{ 674.14”1{‘5’ NE/N SVLL’hﬁO\:&

T #o\( Boses,  La A% SeTAl v(&_)[/v\.{,

{ 903/ fku eoRIS ]nghw) -

n— N ]—/V\\oi\ﬁﬂ lS,Vf/,/<

LbP L L&h,—a SU(\(CMu—A—\ oé: '
\0\\9 h/ﬂv COJ\’*(‘Q){\AQSJ‘ A [0 - (D=~

€ 'IL(/ &
Sm& L!SM /MQ kg;,uj'{,( NC//N Q»%K L’%<§N'
UF\OQ<

(QO\/U"/
Rot (hA@ v v g <€. Mo
’hA\Q w\“ LD‘V( 3[)0( Ov\\ V\7N\ @

IO\\‘/\\

‘.\,’,J,O(J\/\J‘/. S‘Q |
L’SN4 %‘—%) {SN~L1

\J( )\LML MLJQML !ﬂU’IL fnyfo/(,)Fa \/o\(ue._ﬁ ol
V\/\D\j u0(<j \/O\J\ \
LQJ- h\'j Q@'\QQ\& \/ow, C\Lw{i‘j’

| —e¢ « Qu & [ # £
L J/ (YN

VA
b\\:t\:ﬁiﬁ:jf l{,kﬁ{' v n’)\ﬁ( LO\)"‘&, ‘

D _—¢«Sn-L < ¢ |
=) lsn-L 1< €& \03 ohefn o(} oot vedue

N

(b) (5 points) The above is actually a well-known theorem. What's the name of the theorem?
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2. (15 points) Prove that, given any real number x, there exists a sequence s: N - Q with s,, = x. (See
glossary.)

For example, choose x = m, then the sequence s = {(1,3), (2,3.1), (3,3.14), (4,3.141), (5,3.1415), ...}
approaches .

Hint: Use the denseness of Q theorem. By this theorem, there must exist rational numbers
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Show that such a sequence approaches x.
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Glossary:

Definition: A (real) sequence is a function s from N — R.

We denote the outputs of a sequence s(1),5(2),s(3), ... by 1,53, 53, ...
Sometimes we define or refer to a sequence by an ordered list {s4, 55, S3, ... } of its outputs.
We may also denote an arbitrary term of a sequence by s, or the entire sequence by {s,}.

Definition: Let L € R. A sequence s is said to converge to L or approach L if Ve > 0, there exists N € N
such that, whenever n > N we have |s; — L| < €.

If a sequence s converges to L we write lim s, = L orlims, = Lors, = L.
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